Enzyme concentration and rate of reaction
Hypothesis:
The rate of reaction of breakdown of sucrose to its monosaccharide components is dependant on enzyme concentration.

Theory:
Invertase is an enzyme in plants that catalyses the breakdown of sucrose to glucose and fructose. Since sucrose is not a reducing sugar but the products are, the reaction can be followed using Benedict's reagent.

1.
Place 1 cm3 of 5% sucrose solution into each of 6, clean test tubes.

2.
Add the following substances to the six tubes in turn:


a.
1 cm3 distilled water


b.
1 cm3 0.1% invertase


c.
1 cm3 0.5% invertase


d.
1 cm3 1.0 % invertase


e.
1 cm3 5.0% invertase


f.
1 cm3 10.0% invertase

3.
Incubate for five minutes at room temperature.

4.
Add 2cm3 of Benedict's reagent to each tube and transfer to a boiling water bath.

5.
Boil all the tubes for 5 minutes.

6.
Lift the tubes out and allow them to cool in the air.

7.
Use the following scheme to score them by their colours:


0 - blue

1 - green

2 - yellow


3 - orange

4 - brown

5 - red

8.
Record the results.

9.
Analyse the results in any way you think appropriate.

10.
Write conclusion and explain the results.

11.
Evaluate the investigation.

